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(1) FHREHERE DT E
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117,760 (/%) X 09576 + 89,730 (A/".) X 0.0466 = 116948394 (/")
= 116,950 (F/".) XIOARBEEDHEREA

(2) TRl 4E & B T RAHEG LD Z 48 (REHTEE ZENER) DR E

< TR > < BT A >
116,950 (F4/*.) - 83350 (/") = 33,600 (/%)
= 33,600 (/") X100 FKFEELNE T
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< FURHTEAE 2 BhEE > <HERE>
33,600 (/%) X 0.081 (F/m) = 100 (/%) X (1 + 010) = 29.9376 (A/m)
= 2993 (H/m) MINREEIMLUTEYET
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<HEEHGHEE> <REBHEBMORAELE> <BUFZIES >
169.03 (F/m) + 29.93 (A/m) - 30.00 (F3/m) = 168.96 (3/m)
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168.96 (F3/m) — 176.89 (/m) = A7.93 (A/m)

NER AR M BERNXREROBRT IR OESIE,

(5) A ZH & (202346 At 5. FiiA)

<HAHE> <REBHEBIH> <ARERAE>
1,588.88 (/A) + 16896 (A/m) X 31(m/A) = 6,826.64 (M/A)
= 6826 (M/H) XIARBEYIET
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